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SN a2
A FOMNHEOCO(LEM)(LNIIHT/LUHT)
EHe|: Zolol L ALK E )
- _ _ RE]
S EH B (BH) - MBAY - BAS %@ﬁ 2t
201 Bt 1,000 1,000 0
03 A2 G| 1,000 1,000 0
Ooxoloyd =gl M 1,000,000 1,000
301 et A =2 2,000 2,000 0
09 #HAIAHI XIS 2 2,000 2,000 0
OJI1E Az S AIZH| 2,000,000 2,000
= MBS Y ADME(E=H)(ZELX AL/ 241,971 226,192 15,779
e Al)
s 22l 90,276 90,276 0]
2SS FAl € B 90,276 90,276 0
201 gEt2A | 65,046 65,046 0
02 =224 H| 65,046 65,046 0
OJzs dMIIR23 65,046
- oA 7,500 6675 128 60,030
- HED| 11,000 «38= «12& 5,016
401 AlEHIZL 2 0HY| 25,230 25,230 0
01 Al&H| 25,230 25,230 0
Otz s 24| 50,0003 *8B41S *60% 25,230
U S22 JFRD| 38,542 28,957 9,585
Fe2H EH O € Jt2 3 22 38,542 28,957 9,585
101 21 214| 25,382 15,797 9,585
04 JIZtHIZ22NSES 25,382 15,797 9,585
OABEAEHII o182 181,293& 10 x4 3| 7,252
OE=2H ZEHIJ| AIY olgea
181, 293& *25% x4 3| 18,130
201 et d| 2,300 1,900 400
01 AP 2t 2| H| 1,400 1,000 400
QU2 =64 1,000,000 1,000
OQUlFI &2 400,000& 400
02 332%H| 900 900 0
QoD & JIHE 8530 2,000 %4504 900
206 M = Hl 10,860 11,260 AN400
01 X2 H| 10,860 11,260 A 400
O=x3t®s 222 Mgy 3,060
- DIALE 100,000 rE & 60Y 600
- SJ/& gH ¢ H= 10,0002 100 = 1,000
- Edlol 330& *2, 0004 660
- IIE 402 x20, 0004 800




SN a2
HE: 3010 HFMBE U ADHY(EZN)(TELXNAHL/TALTAI)
e 2 2 S=28 IR (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OJZ2SHAE =238 € S S 2!
1,000& *4,000 4,000
OJ2Y HolE=2d M (A=H,A4ZH)
200,000& *43| 800
OAIIX 2 &AX M2 2,000,000& 2,000
Oorotgs =8 AT GIS2 2
1,000,000 1,000
FOI=2AAY F=&X 98,854 93,660 5,194
F0IME SHA AIY 80,252 75,156 5,096
201 LBt Y| 10,252 5,156 5,096
01 AP 22| d| 8,400 3,400 5,000
OHS 2 452 A2 282 28t ST
gl 8,000 x7H 25 1,400
OMAEZEHI(EH) X2
100,000 x10CH »7 L 7,000
02 2=2=24%4| 1,852 1,756 96
OHMEZHl £e2ldl(HMAD,2d0lH)
200,0002 *5CH 1,000
OMEZH SEUH(ER) 1,4203 %604 =10 852
401 Al HI L £ 0HHI 70,000 70,000 0
01 Al H 50,000 50,000 0
OA7E2 M0, SHHA AIY
50,000,000 50,000
03 A& E2HH| 20,000 20,000 0
OAFAR Mol & =223 - A=
20,000,000 20,000
MNMoEsEsiS 2,052 1,954 98
101 21 214| 2,052 1,954 98
04 JIZtHIZ22XNSE S 2,052 1,954 98
OJI2384A S 28y 73,280 28 2,052
MNE=X X2 11,550 11,550 0
401 A& HI L E0HHI 11,550 11,550 0
01 Al&H| 11,550 11,550 0
OMd=X E=2HH & EHIIIAY
11,550,000& 11,550
AoIEEHI ALY 5,000 5,000 0
401 Al HI L £ 0HHI 5,000 5,000 0
01 Al& b 5,000 5,000 0
OAGHH EIME =& (ASHAE EEE & HZ2XA
H) 5,000,000& 5,000
At THOH 2 14,299 13,299 1,000
METIR BES 14,299 13,299 1,000
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SN a2
HM: HH2HAAH| (EEH)(IJIEH/DIE
ch: JI24dd| (2 &HH)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
OBMdE&Y gR=&H| 300,000 x12& 3,600
Jl2 &4l 73,038 65,010 8,028
201 LBt Y| 26,478 23,250 3,228
01 AP 22| d| 23,520 20,520 3,000
ONNSY LBtEdEd 50,0002 18 x12& 10,800
OERs= 360,000& x12& 4,320
OZgly ,2AD,280|8 &4 & A2E ¢
700,000 «12& 8,400
02 Z2=2=24%4| 2,958 2,730 228
OMBRA 2EREZ S 2,958
- YHeH 4002 *300E 12 1,440
sH 2,530@ x50 x12& 1,518
202 044l 46,560 41,760 4,800
01 2L Y| 3,360 3,360 0]
OL=nEg 2 39 & &A 2HoH(22)
70,000 2 x12& 1,680
OHISE Y IIISHHESELER =8 20|
(22) 70,000& x12& 840
OUEE 22X MHA 92 &8 2 (22
) 70,000 2 x63| 840
02 2 4| 43,200 38,400 4,800
O HAHH| 200,0002 x18H ~12& 43,200
SAA 29 7,280 6,980 300
201 et d| 7,280 6,980 300
01 AP 22| H| 7,280 6,980 300
(@) pSE-y= 60,000& 118 7,080
OFFRFY Y MEH S 100,000& *23| 200




